DO NOT SCALE

CO2
DNTA371EH °
370L 1 °
10 320kPa :280kPa [100 400L] °
) 8C) 1,825mmx 635mmx 730mm °
77kg 447kg °
30W
65W
3 °
5w 3w 1 °
200V 50Hz 60Hz °
-10 50
-5 43
[ ]
-25 60
DNHP45ES °
MAX95 RH
650mmx 820mm( 80mm)x 300mm °
48kg °
4.5kW 0.970kW °
DN371EHS 4 _5kW 1.500kw °
6.0A
( ) .
7 38dB 43dB ( ) °
17A 14.0MPa 8.5MPa 1
3.3 C02 0.675kg 2
| 17 3 JIS JIS C9220:2011
NS SGCC :DIC G258 Q15
JIS 90 90
65 90 DNRN-FKE 67 67
4
80 X 137mmx 145mmx 26mm
W067-20020-178 DNRN-FBE 6 ( / )16 /12 17
65
x 125mmx 181mmx 26mm 7 ( / Y7 /6 9
0.33kg 90
DNRN-AE
8 ( / )-7 /-8 5
X 137mmx 145mmx 26mm 920
0.46kg
12V 9 JIS (C9220:2011
10 300kPa
11
DN371EHS No-
1 370L

1/8




DO NOT SCALE

L
300mmiLE 300mm B
O dZwhk
—
FE@| || I 3 Y
E—kR T FE \ h
d=whk B800mmLEl L
}77777]
y
4 TTITITTTT
1
)
100mmEL_E Gx) 100mmu¢(ﬁ
Ty Y
y R . |
E—R T e
& rE
| 100mmBLE e
)
72 ,_1ODmmL‘,u:{>:<)
‘ . - - —+100mm
e—hR> T [ S Ty S VURCD
B ' dZwh
1EE {& 300mm EmE 300mm
BLE e
A 1
50mm e 7
BE
GlIpaL= %
100mmLLE
3

85mm

18MPa

M12x 4

) C-1280

M16x 4
AP-16S

M10x 4

16A

10mm

16A

10mm

9m

T—EAZvNMT

EACEEE

frm 1= vk EENS
HACESTELS
FCTTH 5mLIA

AR ey mEM

Y—FAZVMMT

C BkRn

\S

faKBCE

10A
95
( )
HC-10HON10 )
95 10mm
15m 5
+ 3m
3m 1
10A 13A
80
80 10mm
13A 15m 10
* m
1.5m ( )
L4 3m 1
10A 13A 2
FR1=wh LJ/
L) /
b TERE
| E—
3mBIA 5

f R Tazuh

3mBlA

=

@ T F1—TJRIMBAORDAEEHERA

LW TLIZE L.

)

Rty

sl vh
EEDSAERO
FCHA1.5mLIR

KikEE

Rmtf
KIRER2
200V 20A
3.5mm? Q@
®2.0W (2 )
¢ 2.0(3 ) WF
0.3 0.5mm>(2 )
®l6 1V
DN371EHS No.
1 370L
2/8




DO NOT SCALE

3 4
< ) 535 ¢ 30.5
BBy MR 200V © 30.5
B3 505 . 65 ® 23
(Poh-Eud) A( T
1 L& BC ) |-
j«‘L—I _,- -] :‘LJ '?" -
o) D ' 3
',f” _“-----__“__ ' g - B
FL(E ] NIES
. wl | = -
| “*'ﬁ E IZT _
- [
= = R3/4
¢ @ ~ R3/4
- f)-- — 0 R1/2
A L— - FB R1/2
L@ ) A |R1/2
: B [R1/2
— 65| | 570
EH
O : -
i
| T -
@ A @ 2
[~
L Ty
il il
0] 10
487
'
. / 10 e
1 Q
g Q (?) @@ CSP A 0] N
2 T L : g
—| f"} (+ b 'ﬁ\ . T
= L% £ _(g_ it '\T"%
@AB | 62 \®
.. 147 b
217
@r e - -
. 357
@/ \D\ ! 427
\3 459
@ \ L - L] - ™ - 537
7 lo | | EI ‘ I
) : T
DNTA371EH No-

3/8




DO NOT SCALE

500

4X12X15& (M10HD
- 252.5 .
w
IEvay=| A
1RO CAIl
/- /’l @
=
j\z
D
WR M)
rA0BENaY A
IA%%» Aqé%g‘%“ Aj$%|®:%ﬁ§%?3l2305fﬂ) -~
& N
' (i) B8]
o210 152.5
(P N—EAT0%)
g00
820 80
E- MR 7BFE (B) O
60— /ErbEmin <tz
O
ip] =S\
w

<
~

E-NKDTBEE (A) O

Rl Zwy 7

KHEROIAE R~ R (¢ 16) EHHEL T

BRAKNBEKTE oMBENEET S,

ﬁ—/’kg
&) kf2'f

® Eﬂ%iﬁ

64i}7®ﬁ%ﬁmﬁ%
P
>~

1
tfr\/“»\nijjﬁi%ﬁ A) ’

E- MR 7REE (B)

R1/2
C-MNRDTEE (A)

R1/2

4
QO
"I QO
N
I & e0)
o ® o ©
/
KBIZ b L — FRE 121 Je— n# 7838 (A)
1465 |- h#7 7izE (B)
DNHP45ES No-
4/8




145

)

-

E-bx7(&E7

]

gl

m —-ht-—-
(I3
&S D
GE G £8
el
L
LN |
L8] |
=
4
(™

5/8

No.

DNRN-FKE

31vOS ION Od




181 166.6

DO NOT SCALE

26

B
[
=

1
DENSO v FoE
N & -
BEWE YT S - | 2—4.3x8.5(EMN)
| | 6/ (EEERLA
pr—v| ﬁgﬂ i
=] | = Pl e—— G|
LT TL T E &t’)
— o e— v
(AR Nw k k] ﬁ ﬁ
oo0oo0g _%_
35288 | | &)
oogoQoa

.&EE P RS S Rl T VL MO AHE < B
RO TE R TR LS SATECrob R 5 R R < B RS (A Py

[~

No.

DNRN-FBE

6/8




DO NOT SCALE

Y M
R UERTETER (EE
145
46 E—5x7(E7)
//t@ﬁ*mUﬁJ
f ) W W il
&3 i
© 446 @ | j/
H3EN ] B—-AF-—- E oo
1 A — T, il ™
¢]° - i
' ¢ = Ik l M
= Tl o — .
—— . sl [T [
= N=BE ) : :
4 ] Ly | b
SlE =] [ E=
- 33FH ~ !
| _
AN RS X 55848 | M SZiny Gf E
B S ~L 26 |
DNRN-AE No-

7/8




SGCC

M4x 12
@ 4x L10

M5x L10

2

4
10

8

GZgl

0Zs

roct |

8/8

No.

TUFCHC-C

31vOS ION Od




